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/* Read in two integers and print their sum. */
. ZME. e TR s 2O 2 fA]
#include <stdio.h>
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int main(void){

int a, b, sum;

= 7|¥|E : int, void

s Al ':”XF : main, a, b, sum
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inta, b, sum; -> (X), int absum -->absum= otL}2| 4]
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» printf("Input two integer: ");
scanf("%d%d", &a, &b);
printf, scanf : 21 82X}, (): = & E
"Input two integer: " : “ =AIE &
& : TAALKE & a, &b (0), &a,&b (0), &a &b (X),
a&, &b (X)

» sum=a+b;
=, + : HAMXL sum=a+b; (O),sum =a + b ; (0),
sum=a+b ;(X)



.,
22I|'_I—|
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- letter_or_digit

letter_or_digit ::= letter|digit

letter ::= lowercase_letter|uppercase_letter

lowercase_letter ::=a|b|c|..|z

uppercase_letter ::=A|B|C| ... | Z
~digit::=0|1]2|3]4|5[6]7]8]9

- alphanumeric_string ::= {letter or_digit},.
- “3%, “aby77¢", " € U0 2] SRS
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: alpha strin 3= uppercase__letter
{létter or dlg?t}o N

- conditional_statement ::= if (expression)
statement

{else statement}opt
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/* a comment */
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* A comment can be written in this fashion
* to set it off from the surrounding code.

© C++ AEFY FA
// This is a comment in C++.
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- C7|HE
auto do goto signed |unsigned
break double |if sizeof void
case else int static volatile
char enum |long struct while
const extern |register switch
continue |float return typedef
default for short union
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identifier ::=

{letter|underscore} {letter|underscore|digit},,

underscore ;=
- =HIZ o A|

K, id, iamanidentifier2, so_am_ I
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. Al xto| £2 of

not#me /¥ special character # not allowed */
101_south /* must not start with a digit */
-plus /* do not mistake - for _ */

. C EE 2to|=az|of Ho|E AExt
printf, scanf, ...
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- =HIE oA
"a string of text"

a=>b + c;
/* this 1s not a comment */
a string with double quotes \" within"
. EHRE off %

/* "this 1s not a string" */

"and

neither 1s this"
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rintf("%d", a);

rintf("hello");
= (23 + 2) °
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b % 7;  //LHA] HLX
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#include <stdio.h>

int main()

{ sl |
int input, change; // input2 £ change= =2 X{&et HE
int w500, w100, W50, w10; /] 2 S I+E MES HE

printf("E2 YESIM K : ");
scanf("%d", &input);

change = input - 150; /] 71112t0| 150 A Y Ul THE Al At
w500 = change / 500; // 5008 SH2| I+
change = change % 500; // OX! X|ZoIX| 2%t L4 THE

w100 = change / 100;

change = change % 100;

w50 = change / 50;

change = change % 50;

w10 = change / 10;

printf("500# % 2| SH %d7i\n", w500);
printf("100& M 2| S %d7H\n", w100);
printf("s50#®2| SH %d7i\n", w50);
printf("1o# X2 H %d7i\n", w10);

return oO;



1+2%3 €= 1+(2%3)
1+2-3 €2 (1+2)-3)
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1+2%3 == 1+(2%3) --> 7
(1+2)*3 --> o= X2 A&9| of

1+2-3+4-5==(((1+2)-3)+4)-5
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#include <stdio.h>

int main(void){
printf(“9 * 4 = %d\n", 9 * 4);
return 0O;
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#include <stdio.h>

int main(void){
int dap;

dap = 9 * 4;

printf(“9 * 4 = %d\n", dap);
return O;
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#include <stdio.h>
int main(void){

int a, b, dap;

a = 9;
b = 4;
dap = a * b;

printf(“%d * %d =

return O;

\n"
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#include <stdio.h>

int main(void){
int a, b, dap;

printf("Input two integers : ")
scanf("?d?d", &a, &b);

dap = a * b;

pr1ntf(“7d * %d = %d\n", a, b, dap);
return O;
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/* constant can not be incremented */

++(a*b-1)
/* ordinary expression not be incremented */

- O 2 E
int a, b, c = 0;
a = ++C;
b = C++;
printf("%d %d %d\n", a, b, ++c);
/¥ 1 1 3 1s printed */
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F2Dj*=k+3=j=j*k+ 30| Oof-|2},
j=j*k+3)d
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i += 3 + k i= G+ G+ k) 6
jr=k=m+5 j=@G * (k=(m+5)) 18
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#include <stdio.h>
int main(void){

int i = 0, power = 1;
while (++1 <= 10)

printf("%-6d", power *

printf("\n");
return 0O;
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#include <filename>

#include "filename"
#define PI 3.141592
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